Revision 5 – Variance 2
Question 1
ABC Ltd makes and sells a single product. The standard cost and revenue per unit are as follows:

	
	$

	Selling price
	400

	Direct material A (5 kg at $25 per kg)
	125

	Direct material B (3 kg at $22 per kg)
	66

	Direct labour (3 hours at $10 per hour)
	30

	Variable overheads (3 hours at $7 per hour)
	21

	
	158


The budgeted production and sales for the period in question were 10,000 units.

The mix of materials can be varied and therefore the material usage variance can be sub-divided into mix and yield variances.

For the period under review, the actual results were as follows:

	Production and sales
	9,000 units

	
	$

	Sales revenue
	4,455,000

	Material cost:
	

	A – 35,000 kg
	910,000

	B – 50,000 kg
	1,050,000

	Labour cost (30,000 hours)
	385,000

	Variable overhead
	230,000


The general market prices at the time of purchase for material A and material B were $21 per kg and $19 per kg respectively.

There were no opening or closing inventories during the period.

Required:

(a)
Prepare a statement detailing the variances (including planning and operational, and mix and yield variances) which reconciles the budgeted contribution and the actual contribution.
(16 marks)
(b)
Discuss the results and usefulness for ABC Ltd of the planning and operational, and mix and yield variances that you have calculated in your answer to part (a).


(4 marks)


(Total 20 marks)
Question 2 – Sales price and volume variances, material planning and operational variances, labour rate and efficiency variance
Carad Co is an electronics company which makes two types of televisions – plasma screen TVs and LCD TVs. It operates within a highly competitive market and is constantly under pressure to reduce prices. Carad Co operates a standard costing system and performs a detailed variance analysis of both products on a monthly basis. Extracts from the management information for the month of November are shown below:
	
	
	Note

	Total number of units made and sold
	1,400
	1

	Material price variance
	$28,000 (A)
	2

	Total labour variance
	$6,050 (A)
	3


Notes

(1)
The budgeted total sales volume for TVs was 1,180 units, consisting of an equal mix of plasma screen TVs and LCD screen TVs. Actual sales volume was 750 plasma TVs and 650 LCD TVs. Standard sales prices are $350 per unit for the plasma TVs and $300 per unit for the LCD TVs. The actual sales prices achieved during November were $330 per unit for plasma TVs and $290 per unit for LCD TVs. The standard contributions for plasma TVs and LCD TVs are $190 and $180 per unit respectively.
(2)
The sole reason for this variance was an increase in the purchase price of one of its key components, X. Each plasma TV made and each LCD TV made requires one unit of component X, for which Carad Co’s standard cost is $60 per unit. Due to a shortage of components in the market place, the market price for November went up to $85 per unit for X. Carad Co actually paid $80 per unit for it.
(3)
Each plasma TV uses 2 standard hours of labour and each LCD TV uses 1·5 standard hours of labour. The standard cost for labour is $14 per hour and this also reflects the actual cost per labour hour for the company’s permanent staff in November. However, because of the increase in sales and production volumes in November, the company also had to use additional temporary labour at the higher cost of $18 per hour. The total capacity of Carad’s permanent workforce is 2,200 hours production per month, assuming full efficiency. In the month of November, the permanent workforce were wholly efficient, taking exactly 2 hours to complete each plasma TV and exactly 1·5 hours to produce each LCD TV. The total labour variance therefore relates solely to the temporary workers, who took twice as long as the permanent workers to complete their production.
Required:

(a)
Calculate the following for the month of November, showing all workings clearly:
(i)
The sales price variance and sales volume contribution variance;
(6 marks)

(ii)
The material price planning variance and material price operational variance;


(2 marks)

(iii)
The labour rate variance and the labour efficiency variance.
(7 marks)
(b)
Explain the reasons why Carad Co would be interested in the material price planning variance and the material price operational variance.
(5 marks)



(20 marks)
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Question 3
ABC Co, a premium food manufacturer, is reviewing operations for a three-month period of 2011. The company operates a standard marginal costing system and manufactures one product, ZP, for which the following standard revenue and cost data per unit of product is available:
	Selling price
	$12.00

	Direct material A
	2.5 kg at $1.70 per kg

	Direct material B
	1.5 kg at $1.20 per kg

	Direct labour
	0.45 hours at $6.00 per hour


Fixed production overheads for the three-month period were expected to be $62,500.

Actual data for the three-month period was as follows:

	Sales and production
	48,000 units of ZP were produced and sold for $580,800

	Direct material A
	121,951 kg were used at a cost of $200,000

	Direct material B
	67,200 kg were used at a cost of $84,000

	Direct labour
	Employees worked for 18,900 hours, but 19,200 hours were paid at a cost of $117,120

	Fixed production overheads
	$64,000


Budgeted sales for the three-month period were 50,000 units of Product ZP.

Required:

(a)
Calculate the following variances.

(i)
Sales volume contribution and sales price variances;

(ii)
Price, mix and yield variances for each material;

(iii)
Labour rate, labour efficiency and idle time variances.
(10 marks)
(b)
Prepare an operating statement that reconciles budgeted gross profit to actual gross profit with each variance clearly shown.
(4 marks)
(c)
Suggest possible explanations for the following variances:
(i)
Material price, mix and yield variances for material A;

(ii)
Labour rate, labour efficiency and idle time variances.


(6 marks)


(Total 20 marks)
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